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 Revision 2 Unit 1 - 4 
 

1. Simplify 
yx

yx

−

⋅
16

832       Ans: yx 72 +  

2. Solve  
3

1
92 =x       Ans: 

8
1

−  

3. Factorize xyxyyx 4816 22 −+      Ans: )124(4 −+ yxxy  
4. Factorize 42132 ++ xx      Ans: ( )( )76 ++ xx  
5. Factorize 203112 2 ++ xx      Ans: ( )( )5443 ++ xx  
6. Factorize 1625 2 −x       Ans: ( )( )4545 −+ xx  

7. Solve ( ) ( )22 114 +=− xx      Ans: 3
3
1

orx =  

8. Solve 012 =−− xx , leave the answer in surd forms.  Ans: 
2

51 ±
=x  

9. If 424 2 =+− yyx , then x =    Ans: 
4

16165 2 +−= yyx  

10. Solve 
g

U
Hh

4

2

−= .  If g=3, h=4, H=7, then U =  Ans: 6±=U  

11. (a)   Use factor theorem to show that (x+2) is a factor of ( ) 652 23 +−−= xxxxf . 
 (b)   Hence solve the equation ( ) 0652 23 =+−−= xxxxf  completely.  
        Ans: (a)   ( ) 02 =−f  
        Ans: (b)   132 ororx −=  


